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x TBR x PR % FiB+x FiRY/2 FIHA1E
SIF(((ED2+3%G4-5)  [SIFU(ED2+3*H4-5)
FTHA{E|-1 00 100 =(B2+C2)/2 ynew FRR |[-100 #ED2+3#GI-50) #E D2 +3%HI-50
{=0,G4,G2) <=0,H4 H2)
SIF((ED2+34G4-5)  [SIFU(ED2+3+H4—5)
yrnew EFR 100 *{ED2+3HGI-50) #E D2 +5%HI 50
<=0,G3,G4) <=0,H3,H4)
Cy FIR+y EBR)/2 [=(G2+E3N2  [Z(H2+HE)/2 =([2+13)/2
SIFRC2+3%GE-5)  |SIFU(EC2+3xHI-5)
yuTIR =$GE2 *{EC2+IHGT-5D) HEC2+IHHT-5D
$=0,G8,G5) <=0,Ha,H&)
SIFRCE+3#GE-5)  |SIFU(ECa+3+HE-5)
yu_EFR =$GES *EC2+IRGT-50) H#HECZ+HIRHT-50
<=0,G7,Ga) <=0,H7,H8)

(y T BR+y FERM2 |=(GE+GTI/2  |=(HE+HTI/2 =(IFHT)/2
SIF({{2*D2-BEA+3)  |[SIFU(2*D2-BEA+3) =IF(((E D1 O+3%G1 2-5) [SIFIIE D1 0+3%H1 2-5)
#(Zw02-BEG+IN #ZHC2-BE+IN =(B10+C1 02 ynew FRR  [Z8GE2 A(EDT 034G -5 RED1 0+FkHT 1520
<=0,02,62) <=0,02,02) <=0,612,G10) <=0,H12 H10)

=IF(((E D1 O+3#G1 2-5) [<IFI(E D1 0+3+H1 252
yrew EFR [=BGE3 *EDIO+3%G11 -5 [#(ED1 O+3%H1 1-5
<=0,611,G12) <=0H11 H12)

Cy T BB+ FERM/2 |=(G1 0+G11 /2 |=(H 0+ HI 1 /2 =1 O+[11)/2

SIFCCRC Or3G1 6-5) |SIFC(ECT O+3%H1 6-5)
yuFIR =§GE2 *ECIO+FHGI 55 [#(ECT O+3wHI 5520
<=0,G16,G14) <=0,H16,H14)
SIFCCCECT O0+3%G1 6-5) |SIFCECT 0+3%H16-5)
yu_EBR =5GE3 *ECTO+3RG1 5500 [#(EC1 O+3kHI 550
<=0,G15,G16) <=0H1E H16)

(y T BB+ FERY/2 |=(G1 4+G1 5)/2 |=(H1 4+H1 5)/2 =11 4+1153/2
=IF({{2+ 01 0-BE1 2+3) [SIFC(2+D1 0-BE1 2+3) =IF({(§ D1 §+3+G20-5) [<IFI(E D1 8+3+H20-5)
#(Z#C10-BE16+3))  |#Z*C10-BEI6+30  |=(B16+C18)2 ynew TR [=§GE2 #(ED1B+34G18-50)  [*(ED1 8+3xH1 5-520
<=0,01 0610} <=0,010,0100 <=0,G20,G18) <=0,H20H18)

=IF(((E D1 B+3#G20-5) [=IFU(E D1 8+3%H20-52
yrew EFR =BGE3 *(ED1E+3#G19-5))  [#(ED18+3xHI 8-50 |3
$=0,6158,G20) <=0,H18,H20)

(y T BB+ FERY/2 |=(G1 8+G1 9)/2 |=(H1 8+H1 8)/2 =(I1 8+01 53/2

SIFCEC B+3%G24-5) |SIFU(EC1 G+3+H24-5)
yu IR =§GE2 *ECB+3#G2I-50  [#ECT B+IwH2I-50

$=0,G24.G22) <=0,H24 H22)

=IF(((BC1 B+3#G24-5) [<IFIIBC B+3+H24-5)
yu_EBR =5GE3 *(FO1B+3#G23-5))  [W(EC18+IRH2ZI-5N |3
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(KO B-BEZ4+30) (#2401 B-BEZ4+3N  |=(B26+0263/2 vrew FER  |=8GE2 RED2G+IHE2T-5))  [RED2G+IRHZT-50
<=0,018,618) <=0,018,018) $=0,G28,G26) <=0,H28 H26)

=IF({(F D2 6+3+G2a-5) [<IFI(E D26 +3+H2E-5)
vrew ERR |=8GE3 *(FO2G+IHGZT-5))  [W(ED26+3xH2T-50 |3
<=0,G27.G28) <=0H27 H28)

(y T BB+ FERY2 |=(G26+G2T7)/2 |=(H2E+H27)/2 ={I26+273/2
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<=0,G31,G32) <=0,H31 H32)

(T IR+ ERR)/2 |=(G30+531 /2 |=(H30+H31 3/2 =(130+H31 /2
SIF2*D26-BE2E+3) [SIF(2*D26-BE2E+3) =IF({(F D34+3+G36-5) [<IFI(E D34 +3¥HI6-5)
*(IKC2E-BEIZHIN)  [R(2#C26-BEIZHIN  |[=(BI4+C3I4N2 vrew TRR  |=§G§2 *(EDI4+IHGEIEH))  [R(EDI4+IHHIS-EN
<=0,0026,B26) <=0,026,026) <=0,G36,G34) <=0,H36,H34)

=IF({(F D34+3+G36-5) [=IFI(E D34 +3+H36-5)
yrew FBR |=5GE3 #(EDIA+IHGEIEHI]  [R(EDI4+IKHIE—
<=0,G35 G35) E)){=0,H35 H3&)

Gy TR+ ERR)/2 |=(G34+G35)/2 |=(H34+H350/2 =(134+H353/2

=IF({(BC34+3+GA0-5) [SIFI(BCI4+3+H40-5)
yu T ER =5GE2 *(ECIA+IHGEIGHI)  [RECI4+IHHIO-EN
<=0,G40,G38) <=0,H40,H38)
SIFRCI4+3%GA0-5) [SIFIECI4+3xHI0-5)
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